o
[N

<0 > (rad)
o
o [
[ [¢)]

ERT - CPEY- TEE CER| DR - 2 R

S AN RN R AR

-2 -1 0 1

2

3

TP n (PCA to beamline)

< o cot(y) >
o
=
a1

...............................

.....

.....

I

o023
S E 2

@ 1.2E
LT
i

-3

0

1

2

3

TP n (PCA to beamline)

—=— DQM_mKFIt_T1orignar
—e— DQM_mkFit_TTNEW

—— DQM_mKFit_TTNEW50
—— DOM_mkFit_ TTNEW100

100

o |22

< 00, > (M)

0 1

W
|
N T

I

N

2

3

TP n (PCA to beamline)

> 5
= T HT R TE
~ F q : : 5
I H-FF11-1-H- g -
SN 5 5 5 5
= 3 MEHT R i -
Q F : ! W :
° 2k RNEIRRE ; -
v E : : : :
1= MEETT -
E g 4 :
OF -t FF J‘ i
| B (S I AR - el {E
-2k - -
-3F :
-4
cEs | LA I i b
o ™k ] ;
T 1.05F- : ; : 5L
o : ] 4[4
F- ¥ - e e - - ) i - Fo]
=2 -1 0 T2

3

TP n (PCA to beamline)

<od,> (um)

(@)
TIT T T T[T [TI [ PP T[T T[T [T T [ TTr Tt

IEIRIR

.9_100-|||| b W hlL
5
-2 -1

|
w

1

2

3

TP n (PCA to beamline)



	Contents
	Page 1


